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1. The strain energy stored ina a cantilever beam loaded

as shown, will be

P

BA

(a) P2l3 / 4EI (b) P2l3 / 3EI

(c) P2l3 / 2EI (d) P2l3 / 6EI

2. The torque producing a unit twist in a shaft of unit

length is

(a) Nominal torque

(b) Maximum torque

(c) Torsional rigidity

(d) Normal torque

3. Mass per unit of the belt of an open belt drive is 1.5

kg/m. if the  linear velocity of the belt is 10m/s and

radius of driving pulley 0.5m, centrifugal tension in

the belt is

(a) 150 N (b) 600 N

(c) 400 N (d) 300 N

4. For a Helical spring, spring index is

(a) The ratio of the mean coil diameter to the pitch of helix

(b) The ratio of the mean wire diameter to the pitch

of helix

(c) The difference between the mean coil diameter

and the wire diameter

(d) The ratio of mean coil diameter to wire diameter

5. Rankine formula (for a column) takes into account

which of the following ?

(a) The initial curvature of the column

(b) The eccentricity of loading

(c) The effect of direct of slenderness ratio

(d) The effect of slenderness ratio

1. fp= esa n'kkZ, <ax ls Hkkfjr dSaVhyhoj naM esa HkaMkfjr fod`fr mtkZ
fdruh gksxh \

P

BA

(a) P2l3 / 4EI (b) P2l3 / 3EI

(c) P2l3 / 2EI (d) P2l3 / 6EI

2. ,d ,dd yackbZ ds 'kS¶V esa ,d ,dd ,saBu mRiUu djus okyk

cy&vk?kw.kZ dSlk gksxk \

(a) uke&ek= cy&vk?kw.kZ

(b) vf/kdre cy&vk?kw.kZ

(c) ,saBu n`<rk

(d) lkekU; cy vk?kw.kZ

3. ,d [kqys iV~Vk pkyu ds iV~Vs dh nzO;eku izfr ,dd yEckbZ 1.5

kg/m. gSa rnuqlkj ;fn iV~Vs dk jSf[kd osx 10 m/sec gks vkSj

pkyu f?kjuh dh f=T;k 0.5m gks rks iV~Vs dk vidsUnzh ruu fdruk

gksxk \

(a) 150 N (b) 600 N

(c) 400 N (d) 300 N

4. fdlh dqaMfyuh dekuh dk dqMafyuh lwpdkad D;k gksrk gSa \

(a) dq aMyh ds vk Slr O;kl vkSj dq aMfyuh ds fip dk

vuqikr

(b) rkj ds O;kl vkSj dq aMfyuh ds fip dk vuqikr

(c) dq aMfyuh ds vk Slr O;kl vkSj rkj ds O;kl dk varj

(d) d q a Myh d s vk Slr O;kl vk Sj rkj d s O; kl dk

vu qi kr

5. jSafUdu lw= (fdlh LrEHk ds fy,) esa fuEu esa fdldks 'kkfey fd;k

tkrk gSa \

(a) LrEHk dh vkjafEHkad oØrk

(b) Hkkj.k dh mRdsUnzrk

(c) izR;{k laihMu izfrcy dk izHkko

(d) ruqrk vuqikr dk izHkko

SSC JEn - 2012
Objective Paper



Engineering Career Tutorial2007      All Right Reserved.     ECT Publications.     www.iesect.in     Mob. 9461673930
Premier institute for preparation of GATE IES & PSUs.   ECT Centre’s:  Jaipur      Jodhpur      Ajmer      Lucknow

R2

SSC-JE 2012 (Objective Paper) SSC-JE 2010 (Objective Paper)Mechanical Engineering

6. A circular shaft of length L and diameter D is fixed in

one end. The other end of the shaft is subjected to a

twisting moment T. the angle of rotation of the free

end with respect to the fixed end is  . What will be

the angle of rotation of the free end if length is doubled

and diameter is reduced to D/2?

(a) 2 (b) 16
(c) 32 (d) /2

7. Two simply supported beam A and B has the same

length L and subjected to equal bending moment M.

the stress induced in the beam A and B are 
A
 and 

B

respectively. If the cross section of beam A is b x b/

2 and that of beam B is b/2 x b, then correct relation

between 
A
 and 

B
 is

(a) A B2   (b) B
A 2


 

(c) B
A 4


  (d) A B  

8. In a tensile test of a specimen, the ratio of maximum

load to the original cross-section area of the test piece

is called

(a) Ultimate stress (b) Safe stress

(c) Breaking stress (d) Yield stress

9. Which one of the following assumptions in the theory

of pure torsion is false ?

(a) The Twist is uniform along the lengths.

(b) The shaft is of uniform circular section

throughout.

(c) Cross-section plane before torsion remain plane

after torsion

(d) All radius get twisted due to torsion

10. If a beam supported on more than two supports, is

called a

(a) Continuous beam (b) Simply supported beam

(c) Encastered beam (d) Built-in beam

11. If a beam of constant section is subjected throughout

its length to a uniform bending moment, it will bend to

(a) A circular arc (b) A triangular shape

(c) A catenary (d) A parabolic curve

12. Fusible plug for a steam boiler is an alloy consisting

of bismuth, lead out

(a) Tin (b) Copper

(c) Aluminium (d) Zinc

6. ,d fljs ij L yackbZ rFkk D O;kl okyk ,d o`rkdkj 'kS¶V yxk;k
x;k ,d 'kS¶V dk nwljk fljk] T ,saBu vk?kw.kZ okyk gSA mlesa fLFkj
fljs ds lkis{k eqDr fljs dk ?kw.kZu dks.k  gSA rnuqlkj ;fn 'kS¶V
dh yackbZ nqxquh dj nh tk, vkSj mldk O;kl D/2 dj fn;k tk,
rks eqDr fljs dk ?kw.kZu dks.k fdruk gks tk,xk \

(a) 2 (b) 16

(c) 32 (d) /2

7. nks 'kq}kyafcr naM AvkSj B ,dleku yackbZ Lds gS vkSj mudk cadu
vk?kw.kZ M Hkh ,d leku gSA naM AvkSj B are 

A
vkSj 

B
 izfrcy

izsfjr gksrk gSA rnuqlkj ;fn naM A dk vuqizLFk ifjPNsn b × b/2

vkSj B dk b/2 × b gksa rks 
A
rFkk 

B
ds chp dk lgh laca/k D;k

gksxk \

(a) A B2   (b) B
A 2


 

(c) B
A 4


  (d) A B  

8. ,d uewus ds ruu ijh{k.k esa] ijh{k.k [kaM ds vf/kdre LFkkfud vkSj
ewy vuqizLFk ifjPNsn ds {ks=Qy dk vuqikr D;k dgykrk gSa \
(a) pje izfrcy (b) fujkin izfrcy
(c) Hkatu izfrcy (d) yfC/k izfrcy

9. fuEu esa ls dkSulh ekU;rk 'kq} ,saBu ds fl}kUr ds lanaHkZ eas xyr
gSa\
(a) fod`fr yackbZ ds vuqlkj ,dleku gksrh gSA
(b) 'kS¶V] vk|ksikar ,d leku o`rkdkj [kaM dh gksrh gSA
(c) ,saBu ds igys ds vuqizLFk ifjPNsn ds lery] ,saBu ds ckn Hkh

lery jgrs gSA
(d) ,saBu ds dkj.k lHkh f=T;k,Wa fod`r gks tkrh gSaA

10. ;fn dksbZ naM] tks ls vf/kd vkyacksa ij vk/kkfjr gks rks mls D;k
dgrs gSa \
(a) larr naM (b) 'kq)kyEc naM
(c) lgfufeZr naM (d) la?kfVr naM

11. ;fn fLFkj [kaM dk dksbZ naM] viuh iwjh yackbZ ij ,dleku cadu
vk?kw.kZ ls izsfjr gksa] rks og eqMdj dSlk gks tk,xk \
(a) ,d o`rkdkj oØ (b) ,d f=Hkqtkdkj vkd`fr
(c) dSfVujh (d) ,d ijoy;h oØ

12. Hkki ds ckW;yj dk laxyuh; Iyx ,d feJ/kkrq dk cuk gksrk gSa]
ftlesa fcLeFk] lhlk vkSj fuEu esa D;k feyk gksrk gSa \
(a) fVu (b) rkack
(c) ,Y;qfeuh;e (d) tLrk
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13. The maximum efficiency that a heat engine operating

between 327°C and 27°C can be

(a) 3/4 (b) 1/3

(c) 1/2 (d) 1/4

14. Which of the following gases has the highest value

of characteristic gas constant (R)?

(a) Nitrogen (b) Carbon Dioxide

(c) Sulphur Dioxide (d) Oxygen

15. The Molecular kinetic energy of a gas is proportional to

(a) T1/2 (b) T3/2

(c) T2 (d) T

16. Which aspect does not pertain to a free expansion

process?

(a) Work done is zero

(b) Pressure remains constant

(c) No change in the temperature of the system

(d) No gain or loss of heat

17. The isentropic expansion of initially superheated steam

through the nozzle may approximately be given by

the equation

(a) PV1.2 = const. (b) PV1.135 = const.

(c) PV1.3 = const. (d) PV = const.

18. When neither mass nor energy is allowed to cross

the boundary of a system, it is then called

(a) Open system (b) Isolated system

(c) Universe (d) Closed system

19. Which of the following entities is not a thermodynamic

property?

(a) Temperature (b) Specific volume

(c) Heat (d) Pressure

20. Of the following “path function” quantity is
(a) Temperature (b) Work done

(c) Enthalpy (d) Pressure

21. Relation dS = Q/T, holds good in case of

(a) Irreversible process only

(b) Does not depend on the reversibility or

irreversibility

(c) All real processes

(d) Reversible processes only

13. fdlh rki batu dh tks 327°C rFkk 27°C ds chp pkyw jgrk gSa]
vf/kdre n{krk fdruh jgrh gS %
(a) 3/4 (b) 1/3

(c) 1/2 (d) 1/4

14. fuEu esa ls dkSu lh xSl ds vfHkyk{kf.kd xSl fLFkjkWad (R) dk eku
lcls T;knk gksrk gS ?

(a) ukbVªkstu (b) dkcZu MkbvkWDlkbM
(c) lYQj MkbvkWDlkbM (d) vkWDlhtu

15. fdlh xSl dh vkf.od xfrt mtkZ fdlds lekuqikrh gksrh gSa\
(a) T1/2 (b) T3/2

(c) T2 (d) T

16. fuEu esa ls dkSu lh voLFkk ,d eqDr izlkj.k izfØ;k ds vuqdqy ugha
gSa \
(a) fd;k x;k dk;Z 'kwU; gksa
(b) nkc fLFkj jgs
(c) iz.kkyh dk rkieku vifjofrZr jgs
(d) rki esa dksbZ c<ksrjh ;k deh u gksa

17. fdlh ukWyt ds ek/;e ls vkfnr vfrIr Hkki dk le,sUVªkih izlj.k
yxHkx fdl lehdj.k }kjk O;Dr fd;k x;k gSa \
(a) PV1.2 = fLFkjkWad (b) PV1.135 = fLFkjkWad
(c) PV1.3 = fLFkjkWad (d) PV = fLFkjkWad

18. tc nzO;eku ;k mtkZ esa ls fdlh dks Hkh fdlh i}fr dh lhekvksa dk
mYya?ku ugha djus fn;k tkrk rks mls i}fr dks D;k dgrs gSa \
(a) [kqyh i}fr (b) foyx i}fr
(c) lkfoZd (d) can i}fr

19. fuEu esa dkSu lk rRo m"ekxfrd xq.k/keZ ugha gSa \
(a) rki (b) fof'k"V vk;ru
(c) m"ek (d) nkc

20. fuEu esa ls iFk Qyu dh ek=k dkSu lh gSa \
(a) rki (b) fd;k x;k dk;Z
(c) ,UFksYih (d) nkc

21. dS = Q/T dk laca/k fdl fLFkfr esa lgh gksrk gSa

(a) dsoy vuqRØe.kh; izØe

(b) mRØe.kh;rk ;k vuqRØe.kh;rk ij fuHkZj ugha gSa

(c) lHkh okLrfod izØe

(d) dsoy mRØe.kh; izØe
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22. During throtting which thermodynamic property does

not change?

(a) Pressure

(b) Entropy

(c) Enthalpy

(d) Internal energy

23. The internal energy of a perfect gas depends on

(a) Temperature, enthalpy and specific heats

(b) Temperature, entropy and specific heats

(c) Temperature only

(d) Temperature, Pressure and specific heats

24. During an adiabatic process, the pressure P of a fixed
mass of an ideal gas changes by ΔP and its volume V
changes by ΔV. The value of ΔV/V is given by

(a)
P

P


 (b)

1 P

P




(c) 3

1 P

P


 (d)

P

P



25. The ratio of air required for complete combustion of

carbon dioxide and that to carbon monoxide is

(a) 0.5 (b) 2.0

(c) 4.0 (d) 1

26. In case of Boyle’s law, if pressure increases by 1%
the percentage decrease in volume is

(a)
1

%
101

(b)
100

%
101

(c)
1

%
100

(d) 0%

27. Critical pressure is the pressure of steam at

(a) Throat of steam nozzle

(b) Exit of steam nozzle

(c) Either at inlet or at outlet of steam nozzle

(d) Inlet of steam nozzle

28. A compression ignition engine is a

(a) Steam engine

(b) Diesel engine

(c) Steam turbine

(d) Petrol engine

22. mijks/ku dh fLFkfr esa dkSu ls m"ekxfrd xq.k/keZ vifjofrZr jgrs
gSa \
(a) nkc
(b) ,sUVªkih
(c) ,UFksYih
(d) vkarfjd mtkZ

23. vkn'kZ xSl dh vkarfjd mtkZ fdl ij fuHkZj gSa \
(a) rki] ,UFksYih rFkk fof'k"V m"ek
(b) rki] ,sUVªkih rFkk fof'k"V m"ek
(c) dsoy rki
(d) rki] nkc rFkk fof'k"V m"ek

24. :}ks"e izØe ds nkSjku] fdlh vkn'kZ xSl ds fuf'pr nzO;eku dk nkc
P ifjofrZr gksdj ΔP gks tkrk gS rFkk mldk vk;ru V cnydj
ΔV gks tkrk gSA rnuqlkj ΔV/V fdruk gksxk \

(a)
P

P


 (b)

1 P

P




(c) 3

1 P

P


 (d)

P

P



25. dkcZu ds iw.kZ ngu ls dkcZu MkbvkWDlkbM cuus dh izfØ;k esa vkSj
dkcZu eksuksvkWDlkbM cuus dh izfØ;k esa ftruh ok;q dh t:jr gksrh
gS] mldk vuqikr fdruk gksrk gSa \
(a) 0.5 (b) 2.0

(c) 4.0 (d) 1

26. ckW;y fu;e dh fLFkfr esa] ;fn nkc 1 % c< tkrk gSa rks vk;ru
fdrus izfr'kr de gks tkrk gS \

(a)
1

%
101

(b)
100

%
101

(c)
1

%
100

(d) 0%

27. Økafrd nkc] Hkki ds fdl LFkku ds nkc dks dgrs gSa \
(a) Hkki dh ukWty dk daB
(b) Hkki dh ukWyt dk fuxZe
(c) Hkki dh ukWyt ds varZxe ;k fuxZe ij
(d) Hkki dh ukWty dk varxZe

28. dksbZ laihMu izToyubatu dSlk gksrk gSa \
(a) Hkki batu
(b) Mhty batu
(c) Hkki Vjckbu
(d) isVªksy batu
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29. In diesel engine, the ignition takes place

(a) Automatically due to high temperature of

compressed fuel

(b) Carburettor

(c) Automatically due to high temperature of

compressed Air

(d) by spark plug

30. The petrol engine works on

(a) joule cycle (b) Rankine cycle

(c) Carnot cycle (d) Otto cycle

31. Process in thermodynamic cycles are

I : Isentropic II : Constant Volume

III: Constant pressure IV : Isothermal

Which process of is/are not involved in an air standard

dual combustion cycle?

(a) II and III only (b) I only

(c) IV only (d) I and II only

32. Morse test is conducted on multi cylinder engine to

find the engine’s
(a) Indicated power

(b) Stroke length

(c) Emission performance

(d) Compression ratio

33. A nozzle is said to be choked when

(a) Flow through it is maximum and exit pressure is

critical pressure

(b) it discharge flow into the atmosphere

(c) It gets plugged

(d) Flow through it becomes zero and exit pressure

is zero

34. In a water-tube boiler, the flue gas flows through the

following accessories :

1. Super heater 2. ID fan

3. Air heater 4. Economizer

Which of the following gives, the correct sequences

of the flue gas through these accessories:

(a) 1, 2, 3, 4 (b) 3, 1, 4, 2

(c) 1, 4, 3, 2 (d) 1, 3, 2, 4

35. Lean air fuel mixture is required for

(a) Idling (b) Crushing

(c) Acceleration (d) Starting

29. Mhty batu esa izToyu dSls gksrk gSa \
(a) laihfMr bZ/ku ds mPp rki ds dkj.k Lor%
(b) dkcqZjsVj
(c) laihfMr ok;q ds mPp rki ds dkj.k Lor%
(d) LQqfyZx Iyx }kjk

30. isVªksy batu dk;Z djrk gS&
(a) twy pØ (b) jSafdu pØ
(c) dkuksZV pØ (d) vkWVksa pØ

31. m"ekxfrd pØksa ds izy pØe ,sls gksrs gSa %
I : le ,UVªkWfid II : fLFkj vk;ru
III : fLFkj nkc IV : lerkih
buesa dkSu izØe fdlh ok;q ekud f}&ngu pØ esa 'kkfey ugha gSa\
(a) dsoy II rFkk III (b) dsoy I

(c) dsoy IV (d) dsoy I rFkk II

32. cgq&csyu okys batu dk ekslZ ijh{k.k batu ds ckjs esa D;k ekywe
djus ds fy, fd;k tkrk gS \
(a) lwfpr 'kfDr
(b) vk|kr yackbZ
(c) mRltZu fu"iknu
(d) laihMu vuqikr

33. ukWty dks vo:} dc dgk tkrk gS \
(a) mldk izokg vf/kde gks tkrk gS vkSj fudkl nkc Økafrd nkc

gks tkrk gSA
(b) mlds izokg dk foltZu ok;qeaMy esa gksus yxrk gSA
(c) mlesa Iyx yxrk gSA
(d) mldk izokg 'kwU; gks tkrk gS vkSj fudkl nkc 'kwU; gks tkrk

gSaA

34. ty&uyh okys ckW;yj esa ¶yw xSl fuEu milk/kuksa esa ls izokfgr gksrs
gSa\
1. lqij rkid 2. ID QSu
3. ok;q rkid 4. bdksuksekbtj
rnuqlkj fuEu milk/kuksa esa dkSu&lk Øe ¶yw xSl ds fy, lgh gSa&
(a) 1, 2, 3, 4 (b) 3, 1, 4, 2

(c) 1, 4, 3, 2 (d) 1, 3, 2, 4

35. vYi ok;q bZ/ku dk feJ.k fdlfy, t:jh gksrk gSa \
(a) fu"deZu (b) izle
(c) Roj.k (d) izorZu
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36. What material is used for the insulating body of a

spark plug?

(a) Alumina (b) Dolomite

(c) Glass (d) Silica

37. Which element regulates the pressure strokes in the

fuel injection pump of a diesel engine?

(a) Control rack (b) Pump shaft

(c) Lift of plunge (d) Needle valve

38. For complete specification of super heated vapour,

one needs

(a) Temperature

(b) Pressure as well as temperature

(c) Specific volume

(d) Pressure

39. Safety valve used with locomotive boilers is operated by

(a) Spring

(b) Dead weight

(c) High steam and low water

(d) Lever

40. Behaviour of which of the following steam quantities

is closest to that of a gas?

(a) Dry (b) Wet or Dry

(c) Super heated (d) Wet

41. A carnot engine uses nitrogen as the working fluid.

The heat supplied is 53 kJ and adiabatic expansion

ratio is 16 : 1 The receiver temperature is 295 K. The

heat rejected is kJ is

(a) 20.50 (b) 230

(c) 27.75 (d) 17.49

42. In a centrifugal pump, the liquids enters the pump

(a) At the bottom (b) At the center

(c) From the sides (d) At the top

43. for a fluid at rest,

(a) The shear stress is zero

(b) The shear stress is zero only on the horizontal plane

(c) The shear stress is maximum on a plane inclined

at 450 to the horizontal

(d) The shear stress depends upon the co-efficient

of viscosity

36. LQqfyZax Iyx ds fiaM ds jks/ku ds fy, fdl lkexzh dk bLrseky gksrk

gSa\

(a) ,syqfeuk (b) MksyksekbV

(c) dkWap (d) flfydk

37. Mhty batu ds bZa/ku var%{ksi.k iai esa dkSu lk vo;o] nkc ds

vk?kkrksa dks fu;af=r djrk gSa \

(a) fu;a=.k ds (b) iai 'kS¶V

(c) fueTtd dh fy¶V (d) lqbZ okYo

38. vfrrIr ok"i ds iw.kZ fooj.k ds fy, fdldks t:jr gksrh gSa\

(a) rki

(b) nkc vkSj rki nksuksas

(c) fof'k"V vk;ru

(d) nkc

39. jsy batu ckW;yjksa esa iz;qDr lqj{kk okYo fdlls pyrs gSa \

(a) fLizax

(b) vpy Hkkj

(c) mPp Hkki rFkk fuEu ty

(d) yhoj

40. Hkki ds fuEu xq.kksa esa fdldk O;ogkj xSl tSlk gSa \

(a) 'kq"d (b) vknzZ ;k 'kq"d

(c) vfrrIr (d) vknzZ

41. ,d dkuksZ batu esa dk;Zdkjh rjy ds :i esa ukbVªkstu dk iz;ksx gksrk

gSA rnuqlkj 53 kJ m"ek dh iwfrZ gksrh gSA :}ks"e izlj.k dk vuqikr

16 : 1 jgrk gSA mlesa vfHkxzkgh rki ;fn 295 K gks rks vLohd`r

m"ek fdrus kJ gksxh \

(a) 20.50 (b) 230

(c) 27.75 (d) 17.49

42. fdlh vidsUnzh iai esa nzo dgkWa ls izos'k djrk gS \

(a) ry ls (b) e/; ls

(c) ik'oZ ls (d) 'kh"kZ ls

43. rjy fLFkj gksus ij D;k gksrk gSa \

(a) vi:i.k izfrcy 'kwU; gksrk gSaA

(b) vi:i.k izfrcy dsoy {kSfrt ry ij 'kwU; gksrk gSA

(c) vi:i.k izfrcy] {kSfrt ls 450 ds ry ij vf/kdre gksrk

gSA

(d) vi:i.k izfrcy] ';kurk xq.kkad ij fuHkZj gksrk gSA
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44. A pelton wheel is

(a) Radial flow impulse turbine

(b) Inward flow impulse turbine

(c) Axial flow impulse turbine

(d) Outward flow impulse turbine

45. One torr pressure is equivalent to

(a) 1 atmosphere (b) 1 mm of mercury

(c) 10 meter of water (d) 1 Pascal

46. Which one of the following is the Bulk Modulus K of

fluid?

(a)
dP

d  (b)
d

dP

 

(c)
d

dP


 (d)

dP

d



47. Centrifugal pump is started with its delivery valve is

(a) Kept fully open

(b) Kept 50% open

(c) Irrespective of any position

(d) Kept fully closed

48. In flow through a pipe, the transition from Laminar

to turbulent does not depends on

(a) Density of the fluids

(b) Length of the pipe

(c) Diameter of the pipe

(d) Velocity of the fluid

49. Pick up the wrong statement about Centrifugal Pump

(a) Power is proportional to speed2

(b) Head is proportional to Diameter2

(c) Discharge is proportional to Diameter

(d) Head is proportional to Speed2

50. A pipe flow is said to be laminar, if

(a) If the velocity is above 2000 m/min

(b) If the velocity is less than 2000 m/min

(c) If the flow Reynolds number is less than or equal

to 2000 m/min

(d) There is no heat transfer

51. The Kinetic energy associated with a jet through a cross-

sectional area ‘a’ having density ' ' and velocity ‘v’ is

(a) 21
aV

2
 (b) 31

aV
2


(c) 2 31
a V

2
 (d) 21

V
2


44. isYVu ifg;k D;k gksrk gSa \
(a) f=T; izokgh vkosx Vjckbu
(b) var% izokgh vkosx Vjckbu
(c) v{kh; izokgh vkosx Vjckbu
(d) cká izokgh vkosx Vjckbu

45. ,d Vksj nkc fdlds cjkcj gSa \
(a) 1 ok;qeaMy (b) 1 mm ikjn
(c) 10 meter ty (d) 1 ikLdy

46. fuEu esa dkSu rjy dk iqat ekikad K gSa ?

(a)
dP

d  (b)
d

dP

 

(c)
d

dP


 (d)

dP

d



47. vidsUnzh iai dks mlds fuxZe okYo ls pkyw djds D;k djrs gSa \
(a) iwjh rjg [kqyk j[krs gSa
(b) 50% [kqyk j[krs gSa
(c) fdlh [kkl fLFkfr esa ugha j[krs gSA
(d) iwjh rjg can j[krs gSA

48. ,d uyh ds izokg esa Lrjh; ls fo{kqC/k rd dk laØe.k fdl ij fuHkZj
ugha gS \
(a) rjy dk ?kuRo
(b) uyh dh yackbZ
(c) uyh dk O;kl
(d) rjy dk osx

49. vidsUnzh iai ds ckjs esa xyr dFku dkSu lk gSa \
(a) 'kfDr] xfr2 dh lekuqikrh gSA
(b) 'kh"kZ] O;kl2 dh lekuqikrh gSA
(c) foltZu O;kl dk lekuqikrh gSA
(d) 'kh"kZ] xfr2 dk lekuqikrh gSA

50. fdlh uyh ds izokg dks Lrjh; dc dgrs gS \
(a) ;fn izokg dk osx 2000eh@feuV ls vf/kd gksaA
(b) ;fn izokg dk osx 2000 eh@feuV ls de gksaA
(c) ;fn izokg dk jsukYM vad 2000 ds cjkcj ;k mlls de
   gksA
(d) ;fn m"ekarj.k fcYdqy u gksaA

51. ?kuRo vkSj osx okys vuqizLFk dkV {ks=Qy ds ek/;e ls fdlh tsV
ls laca} xfrt mtkZ fdruh gksrh gS \

(a) 21
aV

2
 (b) 31

aV
2


(c) 2 31
a V

2
 (d) 21

V
2

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52. Which shear stress distribution is the correct one

corresponding to the flow through a pipe of circular

cross-section with parabolic velocity profile?

(a) (b)

(c) (d)

53. Flow through a supersonic nozzle is an example of

(a) Open system

(b) Isolated system

(c) Insulated system

(d) Closed system

54. Loss of energy due to sudden enlargement of pipe

cross-section in meters of water is given by

(a)  21 2

1
V V

4
 (b)  2 2

1 2

1
V V

4


(c)

2

2 2
2

1

A1
V 1

2 A

 
 
 

(d)
2

2 2
2

1

A1
V 1

2 A

  
     

55. For maximum power transmission through a pipe line,

the friction head loss equals

(a) H/3 (b) H/2

(c) 3H/5 (d) H/4

56. What should be the ratio of jet speed to blade speed

for maximum efficiency of a pelton wheel?

(a) 1/6 (b) 3/4

(c) 1/4 (d) 1/2

57. Pressure of 80 kPa is equivalent to a head in meter of

carbon tetrachloride of relative density 1.59 of the value

(a) 6.71 m (b) 9.43 m

(c) 5.13 m (d) 8.32 m

58. Two pipe systems are said to be equivalent when in

two systems

(a) Length of pipe and discharge are same

(b) Friction factor and length are same

(c) Length and diameter are same

(d) Head loss and discharge are same

52. ijkoyh; osx dh :ijs[kk okys o`rh; vuqizLFk dkV ds uy ds izokg
ds lqlaxr vi:i.k izfrcy forj.k dkSu lk gSa \

(a) (b)

(c) (d)

53. ijk/ofud ukWty ds ek/;e ls izokg] fdldk mnkgj.k gSa \
(a) [kqyh iz.kkyh
(b) foyx iz.kkyh
(c) jksf/kr iz.kkyh
(d) can iz.kkyh

54. ty ds ehVjksa esa uy ds vuqizLFk dkV dh vkdfLed o``f} ds dkj.k
mtkZ esa gqbZ gkfu dks fdl izdkj izdV djrs gS \

(a)  21 2

1
V V

4
 (b)  2 2

1 2

1
V V

4


(c)

2

2 2
2

1

A1
V 1

2 A

 
 
 

(d)
2

2 2
2

1

A1
V 1

2 A

  
     

55. ,d ikbi ykbu }kjk vf/kdre 'kfDr lapj.k gsrq ?k"kZ.kh 'kh"kZ gkfu
fdruh gksrh gS \
(a) H/3 (b) H/2

(c) 3H/5 (d) H/4

56. fdlh isYVu ifg;k dh vf/kdre {kerk ds fy, tsV pky vkSj CysM
pky dk vuqikr fdruk gksuk pkfg, \
(a) 1/6 (b) 3/4

(c) 1/4 (d) 1/2

57. 80 kPa dk nkc] 1-59 vkisf{kd ?kuRo okys dkcZu VsVªksDyksjkbM ds
fdrus ehVj nkcksPprk ds cjkcj gS \
(a) 6.71 m (b) 9.43 m

(c) 5.13 m (d) 8.32 m

58. nks uyh; iz.kkfy;ksa esa D;k gksrk gSa] tc os nksuksa ,d leku dgykrh
gSa \
(a) uy dh yackbZ vkSj foltZu ,d leku gksrk gSa
(b) ?k"kZ.k ?kVd vkSj yackbZ ,d leku gksrs gSaA
(c) yackbZ vkSj O;kl ,d leku gksrs gSaA
(d) nkcksPprk gkfu vkSj foltZu ,d leku gksrk gSA
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59. Flow between an two stream lines

(a) Remains the same

(b) Increases along its path

(c) Decreases along its path

(d) Is always Zero

60. Pseudo-plastic substances are non-Newtonian fluids

for which

(a) Dynamic viscosity increases as the rate of shear

increases

(b) Dynamic viscosity decreases with the time for

which shearing forces applied

(c) Dynamic viscosity increases with the time for

which shearing forces applied

(d) Dynamic viscosity decreases as the rate of shear

increases

61. For helical gears, the helix angle generally ranges from

(a) 30 to 45 degrees (b) 45 to 60 degrees

(c) 30 to 75 degrees (d) 0 to 30 degrees

62. Which of the following is not a foundry tool?

(a) Riddle (b) Arbor

(c) Slick (d) Trowel

63. Filler metal is used in

(a) Spot welding (b) Projection welding

(c) Gas welding (d) Seam welding

64. Hot working of metal is carried out

(a) Above the recrystallisation temperature

(b) At the recrystallisation temperature

(c) Working Temperature depends upon physical

condition of work piece

(d) Below the recrystallisation temperature

65. The vertical passage for bringing molten metal to

mould cavity is called

(a) Riser (b) Sprue

(c) Runner (d) Gate

66. In arc welding, the arc length should be approximately

equal to

(a) Diameter of electrode rod

(b) One and a half time the diameter of electrode rod

(c) Twice the diameter of the electrode rod

(d) Half the diameter of the electrode rod

59. fdUgh nks /kkj js[kkvksa ds chp izokg dSlk gksrk gSa \
(a) ,d leku gksrk gSa
(b) vius iFk ds vuqlkj c<rk gSA
(c) vius iFk ds vuqlkj ?kVrk gSA
(d) lnk 'kwU; gksrk gSA

60. vkHkklh IykfLVd inkFkZ xSj&U;wVuh rjy gksrs gSA muds ckjs esa dkSu
lk dFku lgh gS \
(a) vi:i.k dh nj c<us ij xfrt osx c< tkrk gSA
(b) vi:i.k cy ykxw djus ds le; ds vuqlkj xfrt osx de gks

tkrk gSA
(c) vi:i.k cy ykxw djus ds vuqlkj xfrt osx c< tkrk

gSA
(d) vi:i.k dh nj c<us ij xfrt osx de gks tkrk gSA

61. dqaMfyr fx;jksa ds fy,] dqaMfyuh dks.k gksrk gSa izk;%
(a) 30 ls 45 fMxzh ds chp (b) 45 ls 60 fMxzh ds chp
(c) 30 ls 75 fMxzh ds chp (d) 0 ls 30 fMxzh ds chp

62. fuEu esa dkSu <ykbZ'kkyk dk vkStkj ugha gSa \
(a) Nyuh (b) /kqjh
(c) fLyd (d) dUuh

63. iwjd /kkrq fdlesa bLrseky gksrh gSa \
(a) fcUnq osYMu (b) mHkkj osYMu
(c) xSl osYMu (d) Hkki osYMu

64. /kkrq dk rIr :i.k dc fd;k tkrk gSa \
(a) rki fd iqu% fØLVy ij
(b) rki ds iqu% fØLVy ij
(c) :i.k dk rki] dk;Z [kaM dh HkkSfrd voLFkk ij fuHkZj gksrk

gSaA
(d) rki ds iqu% fØLVy ls uhps

65. xfyr /kkrq ls dksVj&lapju ds fy, tks m/okZ/kj ekxZ cuk;k tkrk
gS] mls D;k dgrs gSa \
(a) mn~okgh (b) izHkj.k uyh
(c) okgd (d) }kj

66. vkdZ osYMu esa vkdZ dh yackbZ yxHkx fdruh gksuh pkfg,
(a) bysDVªksM jksM ds O;kl ds cjkcj
(b) bysDVªksM jksM ds O;kl dh Ms< xquh
(c) bysDVªksM jksM ds O;kl dh nqxquh
(d) bysDVªksM jksM ds O;kl dh vk/kh
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67. The forging of the steel specimen is normally done at

a temperature of

(a) 8000C (b) 11000C

(c) 15000C (d) 4000C

68. Which part of the cutting tool is prone to crater wear?

(a) Face (b) Shank

(c) Base (d) Flank

69. The size of a Shaper is specified by

(a) Gross weight off machine

(b) Surface area that can be machined  in one hour

(c) Quick return ratio

(d) Maximum travel of cutting tool

70. The process of pouring molten metal in the cavity of

a metallic mould by gravity is known as

(a) Permanent mould casting

(b) Pressed Casting

(c) Shell Casting

(d) Die Casting

71. The Soldering Iron is heated in a  gas flame until

(a) The bit is the red hot

(b) The coating of boraxon the bit turns black

(c) The gas flame appears orange in the color

(d) The gas flame appears Green in the color

72. Cupola is best suited for melting

(a) Non-ferrous metals

(b) Aluminium alloys

(c) Alloys of copper

(d) Ferrous metals

73. Railway rails are generally made of

(a) High Carbon steel

(b) Medium carbon steel

(c) Alloy steel containing 0.8 to 0.9 % carbons

(d) Mild steel

74. In case of slotting machine, cutting action takes place in

(a) Forward stroke (b) Downward stroke

(c) Backward stroke (d) Upward stroke

75. In a drill operation

(a) Torque is equal to the axial force

(b) Torque is more than the axial force

(c) Torque is less than the axial force

(d) Torque is half the axial force

67. bLikr ds uewus dk QkstZu] lkekU;r% fdrus rkieku ij fd;k tkrk
gS \
(a) 8000C (b) 11000C

(c) 15000C (d) 4000C

68. Which part of the cutting tool is prone to crater wear?

(a) vxz Hkkx (b) e/;kax
(c) vk/kkj (d) ik'oZ

69. la:fi= dk vkdkj fdlls fu:fir gksrk gS \
(a) e'khu dk ldy Hkkj
(b) og lrgh {ks=] tks ,d ?ka.Vs esa e'khuhd`r fd;k tk lds
(c) rhoz okilh vuqikr
(d) drZu vkStkj dh vf/kdre ek=k

70. xq:Ro ds dkj.k fufeZr /kkfRod lkapk ds dksVj esa xfyr /kkrq Mkyus
dh izfØ;k dks D;k dgrs gSa \
(a) LFkkbZ lkapk <ykbZ
(b) nkfcr <ykbZ
(c) dks'k <ykbZ
(d) <Iik <ykbZ

71. lksYMfjr yksgk] xSl&Tokyk cukus ds fy, dc rd xeZ fd;k tkrk gS\
(a) fcV] yky xeZ gksus rd
(b) cksjDlu ds foysiu ls fcV dkyh gksus rd
(c) xSl&Tokyk dk jax ukjaxh gks tkus rd
(d) xSl&Tokyk dk jax gjk gksus rd

72. D;wikyk D;k fi?kykus ds fy, lcls T;knk mi;qDr gaS \
(a) vykSg /kkrq,Wa
(b) ,sY;wfefu;e dh feJ /kkrq,Wa
(c) rkWacs dh feJ /kkrq,Wa
(d) ykSg /kkrq,Wa

73. jsyos dh iVfj;kWa lkekU;r% fdlls cukbZ tkrh gS \
(a) e/;e dkcZu bLikr
(b) mPp dkcZu bLIkkr
(c) 0-8 ls 0-9 dkcZu okys bLikr dh feJ
(d) e`nq bLikr

74. LykWV e'khu esa drZu dk;Z dgkW gksrk gS \
(a) LykWV e'khu esa drZu (b) v/kkseq[kh LVªkWd
(c) i'pd LVªkWd (d) m/oZeq[kh LVªkWd

75. os/ku dk;Z esa D;k gksrk gSa \
(a) cy vk?kw.kZ] v{kh; cy ds cjkcj gksrk gSa
(b) cy vk?kw.kZ] v{kh; cy ds vf/kd gksrk gSa
(c) cy vk?kw.kZ] v{kh; cy ds de gksrk gSa
(d) cy vk?kw.kZ] v{kh; cy ds vk/kk gksrk gSa
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76. Lathe bed is made of
(a) Cast Iron (b) Alloy steel
(c) High Carbon steel (d) Mild steel

77. While using High speed steel tools on lathe, the speed
of chuck will be lowest while machining
(a) Copper (b) Aluminium
(c) Brass (d) Cast Iron

78. When turning Mild steel, if the area of cross-section
of the cut remain constant, the cutting force will be
minimum if depth of cut is
(a) Approximately equal to the feed per revolution
(b) One-and-half time the feed per revolution
(c) Two time the feed per revolution
(d) Half the feed per revolution

79. In which type of welding molten metal is poured for
joining the metals?
(a) Arc Welding (b) Gas welding
(c) MIG welding (d) Thermit welding

80. In a single V-butt welds the angle between edges is
kept about
(a) 200 to 400 (b) 400 to 600

(c) 700 to 900 (d) 100 to 200

81. Permeability of a foundry sand is
(a) Porosity to permit the escape of gases/air
(b) Fineness of sand
(c) Distribution of binder in sand
(d) Capacity to hold moisture

82. The crank radius of a slider crank mechanism is 10
mc. If the crank radius is increased to 12cm. the
stroke length will increase by
(a) 10% (b) 20%
(c) 12% (d) 5%

83. Assertion (A) :
A clutch is the best means to connect a driving  shaft
with a driven shaft for regular power transmission
Reason (R):
A clutch can be frequently engaged and disengaged
at operators will
(a) Both A and R are true, but R is not the correct

explanation of A
(b) A is true, but R is false
(c) R is true but A is false
(d) Both A and R are true, but A is not the correct

explanation of R

76. [kjkn ry fdlls curk gSa \
(a) <yokWa yksgk (b) bLikr dh feJ/kkrq
(c) mPp dkcZu bLikr (d) e`nq dkcZu

77. [kjkn ij mPp xfr okys bLikr ds vkStkjksa dk iz;ksx djrs le;]
pØ dh xfr lcls de fdldk e'khuu djrs le; gksxh \
(a) rkack (b) ,syqfefu;e
(c) ihry (d) <yokWa yksgk

78. e`nq bLikr ds [kjknu esa] ;fn dVkbZ ds vuqizLFk dkV dk {kS=Qy
fLFkj jgrk gS] rks dVkbZ dh xgjkbZ fdruh gksus ij drZu cy U;wure
gksxk \
(a) izfr ifjØe.k ds izHkj.k ds yxHkx cjkcj
(b) izfr ifjØe.k ds izHkj.k dk Ms< xquk
(c) izfr ifjØe.k ds izHkj.k dk nqxquk
(d) izfr ifjØe.k ds izHkj.k dk vk/kk

79. fdl izdkj ds osYMu esa] fiNyh /kkrq dks /kkrq ds tksMus ds fy, Mkyk
tkrk gSa \
(a) vkdZ osYMu (b) xSl osYMu
(c) MIG osYMu (d) FkfeZV osYMu

80. ,dy V-eqaM ds osYMks esa fljksa ds chp dk dks.k fdruk j[kk tkrk
gSa \
(a) 200 to 400 (b) 400 to 600

(c) 700 to 900 (d) 100 to 200

81. <ykbZ'kkyk dh jsr esa fof'k"V pqcad'khyrk fdruh gksrh gSa \
(a) xSl ;k ok;q dks fudyus dh vuqefr ds fy, lw{eja?kzrk
(b) jsr dh ckfjdh
(c) jsr esa ca/kdh forj.k
(d) ueh dks jksdus dh {kerk

82. ,d lihZ ØSad ;a=koyh dh ØSad f=T;k 10 lseh gSa ;fn mldh ØSad
f=T;k c<kdj 12 lseh dj nh tk,] rks LVªksd dh yackbZ fdruh c<
tk,xh \
(a) 10% (b) 20%
(c) 12% (d) 5%

83. nkok (A) :
fu;fer 'kfDr lapkj.k gsrq ,d pkyd&'kS¶V dks ,d vU; pkyu
'kS¶V ls tksMus ds fy,] Dyp loksZre ek/;e gSA
dkj.k  (R):
Dyp dks izpkyd dh bPNkuqlkj ckjckj O;Lr ;k eqDr j[kk tk
ldrk gSA
(a) A vkSj R nksuksa lgh gS] fdarq R ] A dk lgh Li"Vhdj.k ugha

gSA
(b) A lgh gSa fdarq R xyr gSA
(c) R lgh gSa fdaRQ A xyr gSA
(d) A and R nksuksa lgh gSa fdarq  A , R dk lgh Li"Vhdj.k gSA
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84. A spur gear with pitch circle diameter D has number

of teeth T. The module m is defined as

(a) m = D/T (b) m = DT

(c) m = T/D (d) m =  D/T

85. A ball and socket joint forms a

(a) Rolling pair (b) Sliding pair

(c) Spherical pair (d) Turning pair

86. ABCD is a four-bar mechanism in which AB = 30 cm

and CD = 45 cm. At an instant, both AB and CD are

perpendicular to fixed link AD. If velocity of B at this

condition is V, then velocity of C is

30
45

A D

C

B

(a) 4/3 V (b) 9/4 V

(c) 3/2 V (d) V

87. The inner and outer radius of friction surface of a

plate clutch are 50 mm and 100 mm respectively.

What is the ratio of maximum intensity of pressure

on clutch plate if magnitude of axial force is 4 KN?

Assume uniform wear theory.

(a) 4 (b) 2

(c) 6 (d) 8

88. The thickness of a boiler plate is 16mm, the diameter

of rivet used in the boiler joint is

(a) 24 mm (b) 28 mm

(c) 10 mm (d) 20 mm

89. Lewis equation in spur gear design is applied to

(a) Gear

(b) Stronger of the pinion or gear

(c) Weaker of the pinion or gear

(d) Pinion

90. Degree of freedom of a slider crank mechanism is

(a) 1 (b) 2

(c) 3 (d) 0

91. Match the List-I with list-II and select the correct

match using the codes below

84. ,d D O;kl okys varjky o`r ds Lij fx;j esa T nar gSA rnuqlkj
mldk ekiakd  m dSls ifjHkkf"kr gksxk
(a) m = D/T (b) m = DT

(c) m = T/D (d) m =  D/T

85. ,d ckWy vkSj lkWdsV ds tksM ls D;k curk gSa \
(a) nksyu ;qxy (b) liZ.k ;qxy
(c) xksyh; ;qxy (d) crZu ;qxy

86. ABCD ,d pkj LraHk okyh ;a=koyh gSa] ftlesa  AB = 30 cm rFkk
CD = 45 cm. gSA ,d {k.k ij   AB rFkk CD nksuksa fLFkj ca/k AD

ds yacor~ gSA rnuqlkj ;fn bl fLFkfr esa B dk osxV gks rks C dk
osx fdruk gksxk \

30
45

A D

C

B

(a) 4/3 V (b) 9/4 V

(c) 3/2 V (d) V

87. ,d IysV Dyp ds ?k"kZ.k ry dh vkarfjd ,oa ckg~; f=T;k,Wa Øe'k%
50 mm vkSj 100 mm gSA rnuqlkj ,d leku fu?k"kZ.k fl}kUr
dh ifjdYiuk ds vk/kkj ij ;fn v{kh; cy dk ifj.kke 4 KN gks
rks Dyp IysV ij nkc dh vf/kdre rhozrk rFkk nkc dh U;wure
rhozrk dk vuqikr fdruk gksxk \
(a) 4 (b) 2

(c) 6 (d) 8

88. ,d ckW;yj IysV dh eksVkbZ 16 feeh gSA rnuqlkj ckW;yj ds tksM
esa iz;qDr fjosV dk O;kl fdruk gksxk \
(a) 24 mm (b) 28 mm

(c) 10 mm (d) 20 mm

89. Lij fx;j dh fMtkbu esa ysfol lehdj.k dk iz;ksx dgkWa gksrk gSa\
(a) fx;j
(b) fifu;u ;k fx;j esa tks Hkh etcwr gksa
(c) fifu;u ;k fx;j essa tks Hkh detksj gksa
(d) fifu;u

90. ,d lihZ ØSad ;a=koyh dh Lokara=; dksfV fdruh gSa \
(a) 1 (b) 2

(c) 3 (d) 0

91. lwph-I dk lwph-II ls feyku djds uhps fn, dksMks dk iz;ksx djds
lgh ;qxy dk p;u dhft,



SSC-JE 2012 (Objective Paper)

Engineering Career Tutorial 2007 All Right Reserved.     ECT Publications.     www.iesect.in     Mob. 9461673930
Premier institute for preparation of GATE IES & PSUs.  ECT Centre’s: Bajaj Nagar    Pratapnagar    Kukas    Ajmer

R 13

Mechanical Engineering

List-I List-II

A. Governor 1. Dunkerley method

B. Flywheel 2. turning moment

C. Critical speed 3. D’ Alembert’s principle
D. Inertia force 4. Speed control

A B C D

(a) 2 3 4 1

(b) 1 2 3 4

(c) 3 2 1 4

(d) 4 2 1 3

92. The reaction between number of lower pair(P) and

number of links (L) in a four link kinematic chain is

given by

(a) L = p + 4 (b) L = 2p - 4

(c) L = 2(p - 1) (d) L = 2p - 4

93. The stiffness of the spring in a hartnell governor is

equal to S
1
 = Spring force exerted on the slleve at

maximum radius of rotation S
2
= Spring force exerted

on the slleve at minimum radius of rotation

(a) 2(S
1­ ­

- S
2
)/h (b) S

1­ ­
- S

2
/2h

(c) S
1­ ­

+ S
2
/h (d) S

1­ ­
- S

2
/h

94. The differential gear in the automobiles is used to

(a) Help in turning (b) Assist in changing speed

(c) Provide balancing (d) Reduce speed

95. Which of the following gear system have minimum

axial thrust?

(a) Bavel gears

(b) Helical gears

(c) Double helical gears

(d) Spur gears

96. A sliding bearing which can support steady loads

without any relative motion between the journal and

the bearing is called

(a) Boundary lubricated bearing

(b) Zero film bearing

(c) Hydrodynamic lubricated bearing

(d) Hydrostatic lubricated bearing

97. Form the Lewis equation Fb = f.p.y.b, the strength

factor of the gear is given by the product

(a) f .y (b) p .y

(c) p .b (d) f .b

lwph-I lwph-II

a. vf/kfu;=ad 1. MadyhZ fof/k
b. xfrikyd pØ 2. orZu {k.k
c. Økafrd pky 3. fM&,YecVZ fl}kUr
d. tMRo cy 4. xfr fu;a=.k

A B C D

(a) 2 3 4 1

(b) 1 2 3 4

(c) 3 2 1 4

(d) 4 2 1 3

92. ,d pkj ca/k okyh xfrd Ja`[kyk esa fuEurj ;qxy (P) dh la[;k
rFkk ca/k (L) dh la[;k ds chp dk laca/k fdl izdkj iznf'kZr gksrk
gSa \
(a) L = p + 4 (b) L = 2p - 4

(c) L = 2(p - 1) (d) L = 2p - 4

93. ,d gkVZusy vfHkfu;a=d esa fLizax dks n`<rk fdlds cjkcj gksxh] ;fn
S

1
  = ?kw.kZ.k dh f=T;k vf/kdre gksus ij fLizax dk Lyho ij yxk;k

cy S
2
  = ?kw.kZ.k dh f=T;k U;wure gksus ij fLizax dk Lyho dk

mRFkkiu
(a) 2(S

1­ ­
- S

2
)/h (b) S

1­ ­
- S

2
/2h

(c) S
1­ ­

+ S
2
/h (d) S

1­ ­
- S

2
/h

94. Lopy ;kuksa esa foHksnh fx;j dk iz;ksx fdlfy, gksrk gSa \
(a) eksMus esa enn (b) xfr cnyus esa enn
(c) larqyu cukuk (d) xfr de djuk

95. fuEu esa fdl fx;j&iz.kkyh esa v{kh; iz.kksn U;wure jgrk gSa\
(a) csosy fx;j
(b) dqaMfyr fx;j
(c) f}dqaMfyr fx;j
(d) Lij fx;j

96. og lihZ cs;fjax tks tuZy rFkk cs;fjax ds chp] fdlh lkis{k xfr ds
fcuk] fLFkj Hkkj dk vkyEc cu ldrh gSa] D;k dgykrh gSa \
(a) ifjlhek Lusfgr cs;fjax
(b) 'kwU; fQYe cs;fjax
(c) nzoxfrd Lusfgr cs;fjax
(d) nzoLFkSfrd Lusfgr cs;fjax

97. ysfol lehdj.k F
b
 = f.p.y.b, }kjk fx;j dk  'kfDr ?kVd fdl

xq.kuQy ls iznf'kZr gksrk gSa \
(a) f .y (b) p .y

(c) p .b (d) f .b
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98. ,d 'kq}kyac /kju] vius /kju ds e/; esa fcUnq Hkkj P ds v/khu gSA
rnuqlkj mlds vuqizLFk ifjPNsn dk lgh lkekU; izfrcy forj.k
fuEu esa fdl js[kkfp= }kjk iznf'kZr gksxk \

(a) (b)

(c) (d)

99. ,d fjosV tksM dh vi:i.k lkeFkZ] ruu lkeFkZ rFkk laihMu
lkeF;Z Øe'k%  100N, 120N vkSj 150N gSA rnuqlkj ;fn
fcuk fjosV dh IysV dh lkeF;Z  200 gks rks fjosV tksM dh n{krk
fdruh gksxh \
(a) 60% (b) 75%

(c) 80% (d) 50%

100. ,d lkekU;r% vkyach naM dk ,dleku forj.k  w kgf izfr ,dd
yackbZ mlds laiw.kZ LiSu (l) ds fy, gSA rnuqlkj mlds dsUnz ij
vi:i.k cy fdruk gksxk \
(a) wl2/8 (b) wl/4

(c) 0 (d) wl/2

98. A simply supported beam is subjected to a point load

P at the middle of the beam. The correct normal stress

distribution across its cross-section is given by which

figure?

(a) (b)

(c) (d)

99. The shear strength, tensile strength and, compressive

strength of rivet joint are 100N, 120N and 150N

respectively. If strength of the unriveted plate is 200N,

the efficiency of rivet joint is

(a) 60% (b) 75%

(c) 80% (d) 50%

100. a simply supported beam carries a uniformly distributed

load of w kgf per unit length over the whole span (l)

the shear force at the center is

(a) wl2/8 (b) wl/4

(c) 0 (d) wl/2
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1 D 2 C 3 A 4 D 5 C
6 C 7 A 8 A 9 A 10 A
11 A 12 A 13 C 14 A 15 D

16 B 17 B 18 B 19 C 20 B
21 D 22 C 23 C 24 A 25 B
26 B 27 B 28 B 29 C 30 D
31 C 32 A 33 A 34 C 35 C

36 A 37 A 38 B 39 D 40 C
41 D 42 * 43 B 44 B 45 B
46 D 47 D 48 B 49 C 50 C
51 A 52 C 53 A 54 C 55 A

56 D 57 C 58 A 59 A 60 D
61 A 62 B 63 C 64 A 65 B
66 A 67 A 68 A 69 D 70 A
71 A 72 D 73 D 74 A 75 D

76 A 77 D 78 D 79 D 80 A
81 A 82 B 83 D 84 A 85 C
86 C 87 B 88 A 89 C 90 A
91 D 92 D 93 D 94 A 95 C

96 C 97 A 98 B 99 D 100 C

Answer Key


